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AL + 3Be (1) 7 LA] Bey ()

* Given that we have 25.0 g of liquid bromine, how many grams of aluminum would we need
to react away all of the bromine? How many grams of aluminum bromide would be produced?

@ Convert the 25.0 g of bromine to moles. Use formula weight. 3 r,- L1790
199.% 4 Bry = mel Br, 199.%
le [5{\7_‘

1$9.% 3\5r2_

= 015644 S6mel Bry

@ Convert the moles bromine to moles aluminum. Use chemical equation.
Lol Al = Dol 67,
Lol A

2 0.,10429703% mo) A
gYhol [Sl\z_

0.156494 S6msl By X

@ Convert the moles aluminum to mass. Use formula weight. Al 26.9¢

16,47(63 /'H = mol A

0.104729703% mo) Al X :ll.‘&lgM ’

mol Rl




149

You can combine all three steps on one line if you like!

\ D Dol A 26,964 A
15,09 l?)\(‘.)_\g e - X N J :’L%\ch\
1S9 § 9 B(}_ 2 mol %‘F’L 1vv\o\ A\
D @ >
1S.0 \3 o Conservation of mass!
¢ J N But ..
~ 2.5\ 9 D\ \ ...what would you have done to calculate the mass of aluminum

bromide IF you had NOT been asked to calculate the mass of

27 .9 4 A1 B3 aluminum FIRST?

Calculating the mass of aluminum bromide directly:

| mol R ﬁ(lm»\lsf\ﬁfleeh,bcégpf\(sfgf1’)‘(‘63(_3{\\6{\3
\QQICS&B(-;_ 2 wol L?)rz lmblA'lBFS

?_S ,O SBLL)Q'

BB A L 265
s ".?)\fjcl’ﬁo
\/
2 Gb ~5F



150 Example:
How many grams of sodium carbonate is needed to make 15.5 grams of sodium

chloride, assuming there is sufficient hydrochloric acid for the reaction

2 H Q) Leg)+ Nagloy (8) = Ha0(0) ¥ Loy (glw LM-Cllag)

1 - Convert 15.5 g NaCl to moles. Use FORMULA WEIGHT of NaCl.
2 - Convert moles NaCl to moles sodium carbonate. Use the ratio in the CHEMICAL EQUATION

3 - Convert moles sodium carbonate to grams. Use FORMULA WEIGHT.

CD VaCle Mot 1X22.99
Cr. [x35H4S

gg}gqj/t/ﬁcf 2 mo| Ua (|

W\d| /Ua:C| - N C
\S.S s Nell 6 Wl 0. 265112929 vmol (




